&2

® A ERERBEKRIKEX®HIN & &
" " THM7EELMTE THEEELMTE 2434
EHE(FM) & EHE(FM) & ST xR

1 EREREKREKEHNH 1,004,885 19.3% 1,013,470 18.1% A 8,585 -0.8%
2 ERAMRUFHEN 200 0.0% 300 0.0% A 100{ -33.3%
3B E x H =% 2 0.0% 1 0.0% 1 100.0%
nﬁ'\f H & 3,716,352 71.6% 4,157,680 74.2% A 441328| -10.6%
58 E W A 1 0.0% 1 0.0% 0 0.0%
6 [#& A = 432,761 8.3% 425,094 7.6% 7,667 1.8%

(FEE &) (432,761) (424,794) 7,967

(& &E 4) (300) (A300)
1 |# 21 = 35,000 0.7% 1 0.0% 34,999| 3499900%
8 | 4z A 3,703 0.1% 4,004 0.1% A 301 —7.5%
E 5,192,904 100.0% 5,600,551 100.0% A 407,647 -7.3%

= d ERERBEKRIKEX®HIN & &
" . THM7EELMTE THeEELMTHE 2434
ST & EHE(FM) & ST xR

1 [# % =1 37,271 0.7% 28,441 0.5% 8,836 31.1%
1% R & F #E 3,697,108 71.2% 4,129,319 73.7% A 432,211 -10.5%
3 [EREERARERMGS 1,370,798 26.4% 1,355,654 24.2% 15,144 1.1%
4 & & = % # 74,619 1.4% 72,035 1.3% 2,584 3.6%
S |& & B I £ 1 0.0% 1 0.0% 0 0.0%
6 | & = 1 0.0% 1 0.0% 0 0.0%
1 |# % H & 13,100 0.3% 15,100 0.3% A 2000 -13.2%
E 5,192,904 100% 5,600,551 100% A 407,647 -7.3%
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SIMTHEE ERERRRE NS TE 3

TR 511%9,29075 3 (RIRTEELLL 40876475 FI, 7.3%I8)
PRIRBRE 2L 7,918 N\ (RHRTEEEELE 551 AJK 6.5%J%K)
S CRRIF DR G S DAL TV A ST AR PR S (HE S ST 45))
= A)
[ R AR CRBEE 101548875 M G RTAEEEEL 85877 FI k., 0.8 %)
K IR B OB LD | B L | (RBROEHA R LR,
BUFEEE Sy 9ET, 17107 M CRFRAEEEEE 1,01575 FI98E 1.0%350)

WA FE 53 3,317 M GerR4EEE L 157 5 F . 5.0%H9)

YN 3,276 75 1 CeFATAEEEEL 7,667 77 FHE. 1.8%H)
(% H)
(EE S D= 36{%9,710 5 M Gerai4-FE b 443,221 5 [, 10.5% )

X HARBRFZFLOWNT LD | BIEEEL L, BRI TR,
6 ARBRIA R O S HVBEIL . BRI DA (BB AT B A8 4 + e 4Y)
] B A B R = 2 A 4 13{&7,079 5 [
CRIBTAEEELE 1,514 5 FO#4 . 1.1%9)

HRARRRE — AN 247-=0  £9173,000
(RIBTAEEEEE 13,0000+ 8. 1%)
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